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4th Semester Examination
ECONOMICS (Honours)
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Full‘! Marks : 60 Time : 3 Hours

. The figures in the margin indicate full marks.
+ Candidates are required to give their answers

in their own words as far as practicable.
|

(Economic History of India : 1857-1947)

-r
- !

Group - A

; 1. Give the answer of the following questions (any ten) :
10x2

w (a) What do you mean by economic drain in India ?
(b) Mention two features of colonial economy.

{c) Mention two features behind the slow growth in
Indian agriculture during colomnial period.
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(2)

(d) Mention two reasons for famines in India during
British Period.

(¢) Is there any relationship between capital flows
and colonial economy ?

(f) Write two causes of decline of Indian handicrafts
during the 19" century,

(2) Mention two constraints to industrial
breakthrough in India.

(h) Define famines.

() What were the major objectives of permanent
settiement ?

(i) What do you mean by commercialization of
agriculture ?

(k) How did the first world war affect the progress
of cotton industry in India ?

() When and where was the Indigo revolt started
in India ?
(m) How were the villages affected by the expansion

of railway in India ?

(n) What were the major industries having dominant
foreign capital in British India ?



(3)
(o) Explain the policy of discriminating protection.

Group - B
i Answer any four questions : 4x5

2. What are the implications of ‘Imperial preference’ in
foreign trade ?

| 3. Distinguish between ‘Old Gurantee System’ and
' “New Gurantee system’.

| 4. What was the role of Managing Agency System for
industrial development ?

5. Discuss fiscal policy of British India.

. 6. Discuss the general features of the history of foreign
trade in colonial India.

| 7. Briefly discuss agricultural Markets during the British
period.
Group -C

! Answer any two questions : 10x2

8. Explain the causes and effects of de-industrialisation
of India during the 19* century ?
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9. Evaluate the overall impact of commercialisation of
agriculture on the Indian economy under British rule.

10. Why did mortality decline in the early twentieth
century ? Briefly explain the main factors determining
population growth. 3+7

11. What was the composition of Income in colonial
India ? Briefly explain “National Accounting System”
for colonial India. ' 2+8
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(Public Finance)
Group - A

1. Give the answer of the following questions any fen :
| 10x2

' (a) Define public good.

. (b) Write the causes of market failure.

i

. (c) What do you mean by incidence of taxation ?

! (d) What do you mean by excess burden of
" taxation ?

- {e) What is external public debt ?
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({ What are the main differences between direct
and indirect tax ?

(g) What is revenue deficit ?

(h) What do you mean by externalities ?

(i) What is tax shifting ?

() What is proportional tax ?

(k) What is GS.T. ?

() What is value added tax (VAT) ?
(m) Why concurrent list is important ?

(n) Give two objectives of Finance Commission.
(0) What is Merit Good ?

Group - B
Answer any four questions : 4x5 -

. Show that the incidence of taxation between buyers
of sellers depends on elasticity of demand of supply.

. Write about the different sources of revenue of the
central Govt. of India.

. Explain the impact of taxation on labour supply.



(9)
5. Distinguish between progressive and regressive tax
g system.
6. Mention the Principles of taxation.
|
2. i‘How public expenditure is important ?
Group - C
Answer any fwo questions : 10x2-

8. Explain the Parets efficiency conditions in presence
of public good.

9., Describe the nature and scope of Public Finance.

~— 10.' Do you think that GST is better than earlier indirect
‘tax structure ? Do you think that an indirect tax
necessarily imposes an excess burden as compared
| to a direct tax ? Give reasons for your answers.
5+5

11. Explain the alternative rules of equal sacrifice on the
assumption that all individuals have identical and

~ declining MU of income. In this connection explain

i the concepts of vertical and horizontal equity.  6+4
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